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QUESTION 1

Cloud Resources are built specifically for an entity (group, organization, or company), Infrastructure can be hosted
internally or externally and also managed internally or by a third party. Which Cloud deployment model is this? 

A. Public 

B. Private 

C. Hybrid 

D. Commercial 

Correct Answer: B 

 

QUESTION 2

Which two statements are TRUE of moving a volume? (Choose two) 

A. All writes from an NFS client to the volume continue 

B. The Snapshot copies of the volume are orphaned and then deleted 

C. The volume\\'s position in the namespace is unaffected 

D. All NAS protocol writes to the volume are interrupted 

Correct Answer: AC 

 

QUESTION 3

Which two are functions of multipathing software? (Choose two.) 

A. Mirroring Port IO 

B. Path health monitoring 

C. Load balancing 

D. RAID reconstruction after a failure 

E. Monitoring fiber optical signal quality 

Correct Answer: AC 

 

QUESTION 4

How is a FlexClone volume different than a snapshot? 
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A. A FlexClone volume is the same as a snapshot until you split the FlexClone to remove all restrictions on the parent. 

B. A FlexClone volume is a copy of all data blocks in a volume while a snapshot only references data blocks. 

C. A Flexclone volume is a writeable copy of a patent volume while a snapshot is read-only. 

D. A FlexClone volume is a separate copy of all data blocks within a parent volume that lives outs.de of the volumes
while the snapshot lives within the volume. 

Correct Answer: B 

 

QUESTION 5

Which storage system command would display the WWPNs of hosts that have logged into a storage system using a
Fibre Channel connection? 

A. sysconfig -a 

B. iscsi show adapter 

C. fcp show initiator 

D. fcp config 

Correct Answer: C 
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